
! 
Aajno mHgz idvs 

]av` sud 1, rivvar, 27 j¡la[ 

pUÔ ]I sImH\r wgvan 
]I invRa`Ùe5 pUÔ 

puStk pUÔ sHg/h pana nH.49 ‡ pana nH.361 

 
 



! 
Aajno mHgz idvs 

]av` sud 2,somvar, 28 j¡la[ 
pUÔ ]I sumitna= wgvan 

p/sHg ]I sumitna= wgvanno gwR 
kLya`k 

puStk pUÔ sHg/h pana nH.133 

 



! 
Aajno mHgz idvs 

]av` sud 2, mHgzvar, 29 j¡la[ 
pUÔ ]I mhavIr wgvan 

puStk pUÔ sHg/h pana nH.276 

 
 
 



! 
Aajno mHgz idvs  

]av` sud 3, bu\var, 30 j¡la[ 
pUÔ ]I bahublI wgvan 

puStk pUÔ sHg/h pana nH.313 

 

 



! 
Aajno mHgz idvs 

]av` sud 4, gu$var, 31 j¡la[ 
pUÔ ]I \atkI ivdeh waiv ijnvr 

puStk pUÔ sHg/h pana nH.303 

 
 
 



! 
× Aajno mHgz idvs × 

]av` sud p, xuk/var, 1 AogS! 
pUÔ ]I ivmlna= wgvan 

puStk pUÔ sHg/h pana nH.184 

 
 
 



! 
Aajno mHgz idvs 

]av` sud 6, xinvar, 2 AogS! 
pUÔ ]I neimna= wgvan 

p/sHg ]I neimna= wgvanno jNm Ane 
tp kLya`k 

puStk pUÔ sHg/h pana nH.230 

 



! 
× Aajno mHgz idvs × 

]av` sud 7, rivvar, 3 AogS! 
pUÔ ]I pa¬Rna= wgvan 

p/sHg ]I pa¬Rna= wgvanno moÙ 
kLya`k 

puStk pUÔ sHg/h pana nH.2pp 

 



! 
× Aajno mHgz idvs × 

]av` sud 8,somvar, 4 AogS! 
pUÔ ]I AnHtna= wgvan 

p/sHg Aa@m 

puStk pUÔ sHg/h pana nH. 193 

 



! 
Aajno mHgz idvs 

]av` sud 9, mHgzvar, p AogS! 
pUÔ ]I \mRna= wgvan 

puStk pUÔ sHg/h pana nH.197 

 
 
 



! 
× Aajno mHgz idvs × 

]av` sud 10, bu\var, 6 AogS! 
pUÔ ]I kuH=una= wgvan 

puStk pUÔ sHg/h pana nH.209 

 
 



! 
Aajno mHgz idvs 

]av` sud 11, gu$var, 7 AogS! 
pUÔ ]I Arhna= wgvan 

puStk pUÔ sHg/h pana nH.213 

 
 
 



! 
Aajno mHgz idvs 

]av` sud 12, xuk/var, 8 AogS! 
pUÔ ]I mÂLlna= wgvan 

puStk pUÔ sHg/h pana nH.218 

 

 



! 
Aajno mHgz idvs 

]av` sud 14, xinvar, 9 AogS!  
pUÔ ]I muinsuv/tna= wgvan 

p/sHg caEdx 

puStk pUÔ sHg/h pana nH.222 

 



! 
Aajno mHgz idvs 

]av` sud 1p, rivvar, 10 AogS!  

pUÔ 1. AkHpnacayaRid 700 muin pUÔ 
2. ]I iv* ùkumar mhamuin pUÔ 

p/sHg 
1. rÙabH\n idn (]I iv* ùkumar muin äara AkHpnaid 
700 muinvrono _psgR=I rÙano idvs) 
2. ]I ]eyaHsna= wgvanno moÙ kLya`k 

puStk pUÔ sHg/h pana nH. 378 Ane 382 

 



! 
× Aajno mHgz idvs × 

]av` vd 1,somvar, 11 AogS! 

pUÔ 1.]I sMyGdxRn pUÔ 
2.]I sMyG&an pUÔ 

puStk pUÔ sHg/h pana nH.404 Ane 406 

 
 



! 
Aajno mHgz idvs 

]av` vd 2, mHgzvar, 12 AogS! 
pUÔ dev-xaS5-guÌ pUÔ 

p/sHg 
1. p/xmmUitR pU.bhen]I cHpabennI 101mI 
jNm jyHtI 
2. ]I vasupUßy wgvanno kevz&an 
kLya`k 

puStk pUÔ sHg/h pana nH.17 



! 
× Aajno mHgz idvs × 

]av` vd 3, bu\var, 13 AogS! 
pUÔ ]I vasupUßy wgvan 

puStk pUÔ sHg/h pana nH.180 

 
 



! 
Aajno mHgz idvs 

]av` vd 4, gu$var, 14 AogS! 
pUÔ ]I neimna= wgvan 

puStk pUÔ sHg/h pana nH.226 

 
 
 



! 
× Aajno mHgz idvs × 

]av` vd 6, xuk/var, 1p AogS! 
pUÔ ]I mhapÍp/wu pUÔ 

puStk pUÔ sHg/h pana nH.300 

 
 



! 
Aajno mHgz idvs 

]av` vd 7, xinvar, 16 AogS! 
pUÔ ]I xaHitna= wgvan 

p/sHg ]I xaHitna= wgvanno gwR 
kLya`k 

puStk pUÔ sHg/h pana nH.20p 

 



! 
Aajno mHgz idvs 

]av` vd 8, rivvar, 17 AogS! 
pUÔ ]I pHcblyit tI=Åkr pUÔ 

p/sHg Aa@m 

puStk pUÔ sHg/h pana nH.291 

 



! 
Aajno mHgz idvs 

]av` vd 9,somvar, 18 AogS! 
pUÔ ]I Aaidna= wgvan 

puStk pUÔ sHg/h pana nH.116 

 
 
 



! 
× Aajno mHgz idvs × 

]av` vd 10, mHgzvar, 19 AogS!  
pUÔ ]I Aijtna= wgvan 

puStk pUÔ sHg/h pana nH.120 

 
 
 



! 
Aajno mHgz idvs  

]av` vd 11, bu\var, 20 AogS! 
pUÔ ]I sHwvna= wgvan 

puStk pUÔ sHg/h pana nH.12p 

 

 



! 
Aajno mHgz idvs 

]av` vd 11, gu$var, 21 AogS! 
pUÔ ]I AiwnHdnna= wgvan 

puStk pUÔ sHg/h pana nH.129 

 
 
 



! 
× Aajno mHgz idvs × 

]av` vd 12, xuk/var, 22 AogS! 
pUÔ ]I pÍp/wu wgvan 

puStk pUÔ sHg/h pana nH.138 

 

 



! 
Aajno mHgz idvs 

]av` vd 13, xinvar, 23 AogS! 
pUÔ ]I supa¬Rna= wgvan  

puStk pUÔ sHg/h pana nH.14p 

 
 
 



! 
Aajno mHgz idvs 

]av` vd 14, rivvar, 24 AogS! 
pUÔ ]I Ònva`I srSvtI pUÔ 

p/sHg 
1.p/xmmUitR pU.bhen]I cHpabenno 
&anvEwv p/kaxn idvs 
2.caEdx 

puStk pUÔ sHg/h pana nH.364 

 



! 
Aajno mHgz idvs 

]av` vd 30,somvar, 2p AogS! 
pUÔ ]I cHãp/wu wgvan  

puStk pUÔ sHg/h pana nH.1p0 

 
 
 


